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QUESTION 1

Which Check Point daemon, if it stops responding or goes down, results in connections from the SmartConsole to the
Management Server failing?

A. SMSD
B. CPTA
C.CPM
D. FWD

Correct Answer: C

QUESTION 2

Which one of the following does not belong to an initial status of a critical device?
A. restart

B. problem

C. init

D. ok

Correct Answer: A

Reference: https://scl.checkpoint.com/documents/R76/CP_R76_ClusterXL_AdminGuide/7298.htm

QUESTION 3

The security administrator wants to verify if a specific connection is being handling by SecureXL. What command below
is used to verify this information?

A. fwaccel conns

B. fwaccel stat

C. cpview

D. fw tab —t connections —f | grep

Correct Answer: A

QUESTION 4
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Which command is used to write a kernel debug to a file?
A. fw ctl debug —-T —f > debug.txt

B. fw ctl kdebug —T —I > debug.txt

C. fw ctl debug —S -t > debug.txt

D. fw ctl kdebug —T —f > debug.txt

Correct Answer: D

Reference: https://itsecworks.com/2011/08/09/checkpoint-firewall-debugging-basics/

QUESTION 5

Which of the following commands does not initiate full synchronization?

A. clusterXL_admin down —p

B. clusterXL_admin up —p

C. cphaprob —d faildevice —s problem report

D. cphaprob —d faildevice —t 0 —s ok register

Correct Answer: C

Reference: https://scl.checkpoint.com/documents/R80.10/WebAdminGuides/EN/

CP_R80.10_ClusterXL_AdminGuide/html_frameset.htm?topic=documents/R80.10/WebAdminGuides/EN/
CP_R80.10_ClusterXL_AdminGuide/162353
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